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C+H N9 : ’N 9In

{1-5 MUNY) MNAN MIUNUT 5 TINN Tab1 mYNY 3 9y DIy

H{Mmps 20) 1 1090 nYNY

:C++ NIYVA NOYI MIDIND OINYHR MITIn \onb

#include <iostream.h>
#include <string.h>

int x,y;

char stri|] = {“have a good day”};
char str2[] = {“today s sunny”};
char str3[30};

YOP 73 D01 MINNN DTN NN 120 DIND Y2 MNTINI DIWHNYHY TP YWop Py
NP

.71 INAN YOPN O DO Nn (MNP 4) N
x = strien(strl);
y = strien(str2);
cout << endl << “A, x=" << y-x << endl;

P INAD YOPN DD DT AN (MM E) A2
for (y=0;str2[y] != “i’; y++);
str2fy|= “\0’;
x=strlen(str2);
str2[y] = “i’;
cout << epd] << “B. x= % << x << endl;

PRIINANYOPN OO DT N (MNP E) A
for (x=0; ((x+2)<strien(strl));x++)
{
for (y=0; ((y+2)<strlen(str2)); y++)
{

if (stri[xf!="*")
if ((strl[x] = str2[y]) &&
(strl[x+1] =str2]y+1]) &&
(str1[x+2] == str2|y+2])} break;
}
if ((y+2)<strlen(str2)) break;
}

cout << endl << “C. string found = “ << strl[x] << strl|x+1] << strl[x+2] << endl;

N3N TIRYa AYNYN TYUNN
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-PD) ININ YOUPN DO UYL NN (MNPIE) 1

=0;

y=1;

while ((strl[x] !=‘a’) || (strl[x+1] I="* ¢)) x++;
while (str2[y-1] !="¢’) || (str2y] !="* *)) y*++;
str2[y+1]="\0";

strepy(str3,str2);

streat(str2,strl+x);

cout << “D. new string = “ << str3 << endi;
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(s 20) 2 Y0vn nYNY

: C+ nawa namon nnon
#include <iostream.h>
char c;

class L §
public:
char ¢;
class M {
public:
void init_char(char e) { ¢ = ¢;}
void init_char(L *d, char e) {(*d).L::c = e;}
void init_char(char *e) {::c=*e;}
char get_char() {return c;}
private:
char c;
b
M ch;
b

main ()

{

L var;

char p="a'";
var.ch.init_char(’b');
var.ch.init_chan(&p);
var.ch.init_char(&var,'c');

cout << ¢ << end;
cout << var.c << endi;
cout << var.ch.get_char() << endl;

}

DNYNN ATO 295 WAL DY NUNID MK DNINYRY DNMNN ¢ DY DDAYN 3 DTN O3
FTO 707 MYNOW MY NIWNID UN»NN N O init_char NPSEND 3 AYTHA 15105 .Nna
.onymn

N2 ¢ DY DINYHAN NYNT , init_char NPYPN9nn nnK Y5 11y 1200 { mnps 10) X
e TINWHNA TIY NN

9371y, Y . init_char nYXPNON NYYY NN OYaR FPYNAT I (MNP S) A
J1209I0 NN TPEPND N, IPURIN NN AYON N

1IN OPLI MIINN VAN NN (MTPIS)
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(MNP 20} 3 199N AN

: G+ N3 N2NON NNAN IMINNN NHm

Hinclude <iostream.h>

int num_func(int num)

{
if (num<=0)
return (;
return (((num% 10)%2) | | num_func(num/10));

}

main()
{

int num,res;

cout << "\pmenter number: "';
cin >> num;
res=num_func(num);

if (res=—=0) cout << "Yes!" << end];
else cout << "No!" < endl;

}

IMDINN NYSIN A (MNMPIB) N

.888 ,2457 24468 ,123 : DNAN VYPN MODDD TAN 73 NAY MINOND OaTh AN (MNP d) 2

0P IR NOD num_fune i1PIpPNON AN N0 (MPpI 8 )
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:CH- noava mnan nnmnn nm

#include <iostream.h>
#include <string.h>

class ch_stack {

public:
void reset(} { top = EMPTY; }
int push(char ¢) { top++; s[top] = c;return 1;}}
char pop() { return s[top—|;}
char top_of{) const { return s|top|;}
int empty() const {return (top — EMPTY);}
int full() const {return (top = FULL);}

private:
enum {max_len = S0,EMPTY = -1, FULL = max_len-1};
char s{max_len|;
int top;

|$

.char oD OMNWYN 5w YN NN ch_stack NEYNPN YT

2w DWP 52 -1 s1 IWRD void reverse ( char slf],char s2[]) 7°3P29 2D (MTPI 10) N
D9NDNY NONN sl NN 2 -1 DN OIPNON TVIN NN ITIN AUN MYND) char
NN MY ch_stack 1100 MINYNI wpnvn

NONHD NMIN ADATR VIPNN NIIND ROV WK YN MWINN 1IN (MNP 5) .2
LOTPN V0N NINOY PN wanen) nvnnnb

DY0ID MWD AN NIYTIN 097N N ch_stack AP>Nnn AN PPN D (MNP 5) o
P MONRY pop-1 INDD NYONNDS push Y32
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#include <iostream.h>

class vector |
public:
vector (int d);
~vector();

int upper_bound() const {return(size-1);}
double& element(int i) {return pli];}

(M T1Ypa 20) 5 199D nbxy

void init_elem(int place,double data) {p[place] = data;}

vector& operator=(vector& m);

void print_vec();
private:

double* p;

int size;
i

vector::vector(int d) : size(d)
{

}

p = new double[d];

vector::~vector()

{
delete []p;

}

vecior& vector::operator=(vector& m)

{n
int i;
for(i=0;i<size;i++)
if (i<m.size)
pli] = m.pli];
plil = 0;

return *this;

}

else

void vector::print_vec()
{
int i;
cout << endl;
for (i=0;i<size;i++)
cout << pli] <<%
cout << endl;

}

N3N TMYA NONYN TN
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main()

{
vector v(10),6(10),w(15);
int i;

for (i=0;i<10;H4+)
{
v.init_elem(i,i);
t.init_elem(i,i+10);
H
W=V,
v.print_vec();
t.print_vec();
w.print_vec();

}

-double 2101 DMHNYN YV TIYD NNY MOPI N0 NPYND PTIN YN AN

PN NV N .NPINKRI NPSPNS DD NYNIAN NN 120N (MHP 7) N
(NPINP2 Man NSPNS W constructor/deconstructor/operator overload )

JD¥NN 0PI MIINN DTN M (MNP 8) A

TINI AN MIPNIN ++ NVINND NN (overload) DMy MAPNI NND (MNP 8) )
SNOVPIN NN 537 1 90N IIPNAN .vectord operator-++(); : 15 NPUNBN

:TPIPNN VI NIYT
++w;
w.print_vec();
(NDYNY MHUNAD MOINA I W)
TN NPN YOP INND D1 NN
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.VHDL - 2 p5n

:(6-8) MYNWN 3-1 2 Yy Ny

YD) 20) 6 100D hYNY

: VHDL-2 xan 1ygn yop ym {mnpa 7) .N

process
begin
a <= \0: H
X <= a;
a<=1'1';
y <=xand a;
wait for 10 ns;
end process;

2 .30ns -1 20ns ,10ns ,.0ns NN y -1 X Dw 0oy o0 o

: VHDL-2 Nan mipn yop v (mnpa 6) .2
process(A,B);
begin
Q<=Aand (Bor(C);
end process;

I TP YOP 2370 NNINY APMIYN NN PYTRa 1Y

: VHDL-aran npnyop M MM 7)

LIBRARY IEEE;
Use 1EEE.std_logic_1164.all;
ENTITY par_out IS
PORT (a: INSTD_LOGIC_VECTOR (0 TO 3);
s : OUT STD_LOGIC);
END par_out;

ARCHITECTURE behave OF par_out [S
BEGIN
PROCESS (a)
YARIABLE parity : STD_LOGIC :=+07;
BEGIN
FORiIN0to 3 LOOP
1F a(i) = ‘1’ THEN
parity := NOT parity;
END IF;
END LOOP;
s <= parity;
END PROCESS;
END behave;

N0 412 NP2 NN I IO NN DNTD NNNN
TIDIND DY NN NDIT N ,IDINI 1PYIAN NN 920D N NN PN AN
20 FPINNN DX PNY 1M T NI NTAW NN
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(M 20) 7 non NYNY

: N3N 9N NP0 43712 NP0 8 N3 MIIN AN AWK VHDL nawa nviown 21nd

ANITV0INVI VP NPDON ST .

“load” W, 22PN MNINI NUYPI MY DM IAMINAWN NP NINMIAN  »
NN YV NND0N 8§ NN VDPY v nn Prsn

APON 8 N1 NN AR 3nY “found” OV R WP NN MINNN .
TIDRNN PN IUND 107-0 DO AN NRINI N 117-2 70 PN . apnn nonoav
01200 YR nann Pa

DY NMIAND NIRINI IWND '11+-H NOwY “found _ind” 010 XYM P NN INNN .
.reset-i) D10 Y PV DN NN IP MUYNIN

DAND 12 193 .“reset” -in MN NTAPY TV 1INLIY NDMON MM NN DOND “reset” 17 o
“found_ind” nx

J0WIN 22 AR 10N “clk” MmN .
: 9910 PYnnn A

:MOYD
reset
clk
pattern (8 bits)
load

dataln
NN

found
found_ind
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{mnps 20) 8 109N NINY

:TINID ANI0N MY AMININD NP2 NN

D=0,N=0/Z=0

¥ A
A

0 out
B 1

mux 2

95701 NN NN 0N clk N1 Yo out NN . B, A, N ,D nrab mos nownd
.DY2NPN ANINY MINDN DIV YN¥IN reset

SN0 NP oyasnn Anan ow»s VHDL -3 nnown 2no

- nbens -
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